By i EERREART DE PR BB E R 5 (- )

BT 2B RS D
HEBERYHT (K- 1)

CHEF (IR 1053, 480 5)

REBH 1 2 3 4 5 6 7 8
B¥ | 1C 29 | 8 6 | 2017036 | O 6 4
T EETISE (BRE05T, 4057, BRI REE)

9. HH 1202122
BEE T EE X BN RE A Pl Wy, IR OFE T
X+y+4x=180, x<y<4x, 4x<90. @
FIORVR R =S HE]: 6x<x+y+4x=180<9x, M 20<x<30; ~IOvET= [zt~

HEIx <225, Frl]20<x<22.

EABY: 1) GRS WEEOR 407 2) BG40 3) AR 250

10. F%: 10
HEE N R, | IFGHE T IR, SR A dpfiy . 1264 p = 4pn,

Bl pi%“lf,@? p 4py, (/41— p, =4p,n, 41— Pui“”l‘ﬁ%‘? -,& =4k +1, [

10 -k .
— — = — _H!EEI L_'4 ,, E)"’I"J = . A,I’ = s = .
404k =4(4k +1)n, n=_— . [NENRLTEEG Tk =0. ik =0, n=10

%IF 2. l)iﬁmp, anFﬁ%[,Tif 357 ;2) HE]n, kfi Jiﬁqé‘rﬁ[,f%\ﬁ 457;3) rﬁiﬂﬁi%ﬁ 377.



SV 2 ST D G BB R Y R (F A

11 Féf’:i' L 4.
E#FAT e < EPYEBPRUEIEL X, S AP F\ S FPY APRVEEL Y, I £ AEP

FUTIAEG X Y . PRE,

Sascr - Sasra = Sarpc FSampr = X 1Y,

SABCE :SAAEC = SAEBP :SAAEP =X :(X —Y),

o
ﬁ'J SABCE :SABCF’ SABFA :SAAEC =X+ X =2X, EIH’”?J XY = X: (X-Y), "JIJL@ Y = _, ]
S iuor Suarn = (124 X):12X = X : %:21 I X=4. = £ EBP ORI 4

ERY: DI 2 575 2) WEXEYIRITT4 53 3 W RRAT4 5.

g - 1
12. % : x=§, y=-1; x=-—, y=-1.

B PRl y 20, rlE‘U—iS JES. Fxry=x-y, Hly=0, 5 - 5]

—TT

X+y=x=y - Fx=0, Hflix+y=xy, F?x—yzxygﬂf%ﬂyzo, Il x=0, Hlxy=0 -
[ ][—{ﬁl_d EIJ:MZJ'F,\I JFJ%’E_F H
(1) x+y=xy=§ CphEe STVHEL y=1E y =L [y =R ey, PER

Y- WHEEE x+1=x, 3 - F.f[’y=—1E3j, ey AEVHE x-1=—x, H]2x=1, A

b s

1
Mx==.
/ 2

(2) x—y:xyzg. - SRR E y =18 y=-1. [filfis y=LRLT{=fv 5 1

iy =—1F, fl1sv- [ s 2=, E{’?J‘}x:—%.

7

=5y 1) (1) I/FIJ;ﬁ 53:2) (DAHI2) ﬁf 47j.

[

_T7

= EE IS @RS, 3057, R )

727



SV 2 ST D G BB R Y R (F A

13. A:i, 6, 10, 13, 14, 16, 18, 19, 22, 24, 25.

B IO T CPYAOB R L PRI YOS S Y

T

gl st /’JJ|EJ4\*‘*EJ JJIé/ = EJJI/P Ijﬂﬁ} =I5 R 5THIES a, b, CFIJR—R—‘EJ_ E‘.»J;%Fm

=

IGE ﬂHl&b&E@&%@h T2 MEL azb>c>1, I>a+b.

SRR 1 USRS FPYHSY IO (WS X (Lgiggr)ﬁu**ﬁl E YA %ﬁ%¢m

i B RL 143+5+--+(2x-1)=x>. [N =, n=1"-(@*+b*+c?), #1123, I>a+b,
a>b>c>1.

(1) | =3[, npl)es 3 (1 +1°+1°)=9-3=6.
(2) I=4p, np'l)e
4% — (2 +1° +1°)=16-6=10, 4> -(1°+1°+1*)=16-3=13.
(3) |_5Eﬁ prTmpJnflu
52 —(3*+1°+1°)=25-11=14, 5°—(2°+2*+1*)=25-9=16,
52 —(2°+1°+1*)=25-6=19, 5°-(1°+1*+1°)=25-3=22.
(49 1=68, % FETfilfonfr)e
6°—(4°+1*+1°)=36-18=18, 6°—(3*+1°+1°)=36-11=25,
62— (22 +2°+2%)=36-12=24, 6°—-(2*+2*+1°)=36-9=27.
6°—(2°+1*+1°)=36-6=30, 6°—(1°+1°+1°)=36-3=33.
(5) I=7F, == PRI IfY nfobs27 .
(6) 1280, [l P ELEURAY n #1426,
FIDEO) i, i 10 i ELEIRY 0 15 6, 10, 13, 14, 16, 18,19, 22, 24, 25,

aF S3 % 1) H 10 IR CE 2)aﬁHzii%ﬁJﬁ’leE‘El, Wﬂ/['(l)J/ﬁI]EIfJﬁBi}i’xﬁS7'}.



Sy =g “H R ERT DE PSR

HHEEE Y A (- &)

10 _.
- A —?fl&yzlo.

E]%FAT: RS 7

_L_#j%

[T 1~ 3 TFIHERLIEE, B | By RLEERr 1= EE

2 27 2
2oty = l+y— =1+ Y ,
25 25 | 25
(LA, HE] 20+3y—10—10y—2 =0, +3_y__y_2 =0. Hrl') ﬂysz‘g@, Syfélopfj]’ﬁ
25 10 |25 10 =¥
e 4] 3y =10k kiliEEe [ i
2 2 2
0clik— 100k ek 4k* 14 k—4k 4k ’
9x 25 9 9 9
s , e 4k? 4k* 4k2
Eln, SRR, {Xp=x=[x]. 7)) 1+k- SEREEE ~1<l+k———<0. Hik
T IR, 1+k —K TITRIR Y™ e
[l '’ 9 F ;ﬁ -
k <-2 | =-1 | =0 =1 =2 =3 >3
4k’® 4 14 11
— -1 = —— =1 = — = — =0 -1
1+k 5 < 9 9 9 <

K PO = iRl 1771 3, ﬁ“ﬁ%ﬁfj y= —9 Ay =10.

. —_— 10
L ﬁ%ﬂrﬁ;ﬂy:—gp&yzlo.

T ma=EH: 1) HE] 10 im?"ﬂ371 2) @TUE%Wkaj FARGE 50 3) WEIFp
“Et%\“fl ) 5f[ﬁ'ﬁ3i'%;%1j}-



